Glacier
Model: WPTGLAWHTO7

SNOILINYLSNI ATINISSY



2

#1 #2 #3 #4 #5
N <
HY Y
S N ——
o% o%
M8*45mm Bolts M8*65mm Bolts 5mm Wrench Leg Body
8PCS 6PCS 1PC 4PCS 1PC
#6 #7 #8 #9
/ Y
Leg Connector Leg Panels M8 Spring Washers M8*19mm Washers
1PC 2PCS 8PCS 8PCS

page 1



<>

Customer Service

For questions on assembly or for missing or damaged parts, please contact us
via email at support@playcraft.com. Please visit our website at
www.playcraft.com to see more industry leading Playcraft and Playcraft Sport game tables.

Thank you for choosing Playcraft!

Global Merchants, Inc.
12 Lunar Drive
Woodbridge, CT 06525

page 2



